Exemplar Problem
Three Dimensional Geometry

15. Two systems of rectangular axis have the same origin. If a plane cuts them at distances a, b, c and a¢, b¢, c¢,
respectively, from the origin, prove that
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Solution:
Let's take OX, OY, OZ and ox, oy, 0z to be two rectangular systems.

And, the equations of two planes are
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Length of perpendicular from origin to plane (i) is
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Length of perpendicular from origin to plane (i)

9.0 IV
A _ 1
g e L J_l P
ﬂrl !132 C-fz ﬂf:’.. !,!2 (12
As per the condition of the question
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Length of perpendicular from origin to plane (ii)
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As per the condition of the question
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